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A Pl versior="1.0" encoding="utf-3"?>

{resowrces)
{dec.are-styleaale nane="TestViev'>
{attr nane="test_boclean’ format="toolean’>{/attr)
{attr nane="test_string” fornat="string">{/attr)
{attr nane="test_integer” fornat="integzr’>{/attr>
{attr nane="test_dinension” ormzt="dinsnsion></attr>
{fdeclare-styleable?
{[resourcesy

B <l version='1. 0" encoding="uti-§'?

{rzsowrzes?
{declare rane="TesViev'>

{att- neme="test_toolzan" forra-="toolzan">{/att=)

{attr neme="test_string fornet=" "y fattry
atte neme="test_integer® forna: er’ > fatt)
<att- nene="test_cinension’ fornat="dinension”;</attr}
Cizclardy
{/resources>

(] versio="1. 0" encocing="utf-8'7

{resources)
{attr nane="test_beolemn” farnat="hcolean’>{/attr}
Cattr nane="test_string’ format="ctring">(/astr)
Cattr nane="test_integer” farnat="irteger’>{/attr)
{attr nane="test_dinension’ fornat="dinension’’{/attr)

{Iresomees)

D (Tl versior="10" encoding="u-f-8"%

{declare-styleatle nane="TestVien"
{attr nane="test_hoolzan” format="hoclean”>/attr
{attr nane="test_string’ fornat="string">(/attr)
{attr nane="test_integer’ format="integer’>/attr?
{attr nane="test_dinension” fornat="cinension>{/attr)
{/declare-styleable)
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